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SA: =0T
Hu: UASYH WY BA(SUHLSL/5Y - 55)
B9l SR AE ETEE)
S2A -2 .G (3H) - IRAR - BES Oi &4 JIEA Hunsz
V= <EnT 83,343,799 89,549,461 21,205,662
= 31,753,407 31,919,756 166,349
= 41,706,000 43,038,000 21,332,000
p] 552,805 552,805 0
g 79,156 53,600 25,556
= 14,252,431 13,985,300 267,131
A=Y B FA(STHYL/5Y - ) 40,841,829 40,910,431 168,602
= 29,982,961 30,269,208 £286,247
= 7,010,000 6,850,000 160,000
| 552,805 552,805 0
£ 79,156 53,600 25,556
= 3,216,907 3,184,818 32,089
SolUEI|E 2E 8,271,761 8,107,761 164,000
= 7,010,000 6,850,000 160,000
p] 343,101 343,101 0
= 918,660 914,660 4,000
S - 5E ZYY B2 ABFT 148,800 144,800 4,000
204 HRLsZ| 65,800 61,800 4,000
03 SHYLAH 65,800 61,800 4,000
SIS 65,800 61,800 4,000
SEAASH(2YAH)(2D) 2,860,000 2,700,000 160,000
Z 2,860,000 2,700,000 160,000
201 Yereg| 4,000 0 4,000
= 4,000 0 4,000
01 Al=Z2lt] 4,000 0 4,000
OBELY SHAE (BTFHI) 4,000 0 4,000
Z 4,000 0 4,000
202 Oit| 6,000 0 6,000
Z 6,000 0 6,000
01 =2UHoit| 6,000 0 6,000
OBELY SYHAE (BT 6,000 0 6,000
z 6,000 0 6,000
308 XHXIEHHISOIE 1,620,000 1,625,000 5,000
= 1,620,000 1,625,000 5,000
01 XXSHHBARES 1,620,000 1,625,000 5,000
OBEAIY 2 AH 1,620,000 1,625,000 5,000
Z 1,620,000 1,625,000 5,000
403 RXISHHIS XH20I® 1,230,000 1,075,000 155,000
= 1,230,000 1,075,000 155,000
01 XIXISHHI=EEE 1,230,000 1,075,000 155,000
OBEAIY 2HAH 1,230,000 1,075,000 155,000
2 1,230,000 1,075,000 155,000
BANYY HH AT 28,250,082 28,409,082 £159,000
= 27,740,378 27,890,378 A150,000
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S S0YBHD
Hu: LSy AU BA(SYHLIN/5Y - 55)

CHol: MRl AW st EERED
£AH -3 . () - AIRANY - HES Oif &ko4 JIEH Blus2

1 209, 704 200, 704 0

e 300,000 309,000 29,000

DIBZEHRIY NR(2D) 0 169,000 A 159,000

=2 0 150,000 A 150,000

= 0 9,000 £9,000

403 XHXISHHISXHEOI R 0 159,000 159,000

2 0 150,000 A 150,000

< 0 9,000 £9,000

01 XIXISHHIXIZEE 0 69,000 159,000

ouZEB MU B4 0 159,000 159,000

= 0 150,000 A 150,000

= 0 9,000 £9,000

SEOIXIS a0 B s 2,948,485 2,959,388 210,903

2 1,634,330 1,634,330 0

= 79,166 53,600 25,556

= 1,234,999 1,271,458 36,459

Hesgel =4 123,106 134,009 210,903

308 XHXISHHISOI® 118,306 29,209 £10,903

01 KIXISHZARES 118,306 129,209 £10,903

ONHLSAME 2 X 21,806 32,700 £10,903

XY =Y ZAH K 134,000 134,000 0

= 79,166 53,600 25,556

= 54,844 80,400 225,556

308 XHXISHHISOIR 134,000 134,000 0

= 79,166 53,600 25,556

= 54,844 80,400 £25,556

06 REIOINSZES 134,000 134,000 0

OXIY =Y SAHl X 134,000 134,000 0

= 79,166 53,600 25,556

= 54,844 80,400 A25,556

M2l B4 1,371,501 1,434,200 £62,699

2 608,253 744,500 ~136,247

= 763,248 689,700 73,548

=20l M2 2 350,000 280,000 70,000

403 XHXISHHIS KH20I 350,000 280,000 70,000

02 BJIZSOICHSHCHE ALRIH] 350,000 280,000 70,000

OSOYHDIATVT 2 350,000 280,000 70,000

SHYYHEHE T2IB(2D) 25,000 45,000 £20,000

2 25,000 25,000 0

= 0 20,000 £20,000

307 LI20IH 25,000 45,000 £20,000

2 25,000 25,000 0

S 0 20,000 220,000

02 DI2HBARE 25,000 45,000 £20,000
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SNSRI
D ARz FW FY(SPHYS/5Y - 5F)
Sl M=ol 54 EERED
2AH-F3 - (3H) - NIBANY - BES Off &+ o4 JIEH Hins2
CEEEENFEIEERE 25,000 45,000 A20,000
= 25,000 25,000 0
= 0 20,000 20,000
=9 DIOIAECHS 2%(21) 630,801 738,500 £107,699
2 406,253 527,500 At21,247
= 204,548 211,000 13,548
307 212t0IF 630,801 738,500 £107,699
2 406,253 527,500 A121,247
= 224,548 211,000 13,548
02 QIHBASE 630,801 738,500 £107,699
OLASADIOIAE IS 2 630,801 738,500 £107,699
2 406,253 527,500 At21,247
g 224,548 211,000 13,548
S9AYALY NV (2D) 147,000 162,000 15,000
= 147,000 162,000 215,000
308 XHXIEHHISOIE 147,000 162,000 15,000
= 147,000 162,000 A 15,000
01 XIXISHHZARES 147,000 162,000 215,000
OsYAFALEY X 147,000 162,000 215,000
=2 147,000 162,000 15,000
YRAT A0l T4 10,000 0 10,000
308 XHXIEHHISOIR 10,000 0 10,000
01 RXSHBL2ES 10,000 0 10,000
OAIXIAS0l H2SIRNS HE KR 10,000 0 10,000
YRSENL B (SYHSLM/5Y - 55) 44,444,061 45,779,292 A1,335,231
2 1,770,446 1,650,548 119,898
= 34,696,000 36,188,000 A1,492,000
= 7,977,615 7,940,744 36,871
s=HE0e 2y 2o 1,192,200 1,020,800 171,400
2 1,043,600 907,200 136,400
= 148,600 113,600 35,000
SE2Y 225t 53 60,600 30,600 30,000
308 XHXIEHAISOIR 30,000 0 30,000
01 XXISHZINEES 30,000 0 30,000
Os=BTAHIE HEsts 29 20,000 0 20,000
OSEBRA X OME X 10,000 0 10,000
SMOEHEEIIE AR HWEXR(2D) 453,600 367,200 86,400
2 453,600 367,200 86,400
308 XHEISHHISOI® 453,600 37,200 86,400
=2 453,600 367,200 86,400
01 RXSHBLRES 453,600 37,200 86,400
OSUUENEIIE MRE HE X 453,600 37,200 86,400
= 453,600 367,200 86,400




SN S0QF M

HE: YASENL B (SPHY2L/5Y - 55)

Sl sENE0E 2P 2 EERED
2HN -3 . S(3) - AIRAY - BAES Ojf &t oH 18 HlnsE2
SOHEDSHSIA 243 X/ (2D) 330,000 275,000 55,000

2 300,000 250,000 50,000

= 30,000 25,000 5,000

308 KHXISHHISOIH 330,000 275,000 55,000
=2 300,000 250,000 50,000

= 30,000 25,000 5,000

01 RXSHILETS 330,000 275,000 55,000
OSUEZSHIAL #4535 X2 330,000 275,000 55,000

2 300,000 250,000 50,000

= 30,000 25,000 5,000

SETIIY &S 3,955,861 3,978,492 ~22,631
= 726,846 743,348 216,502

= 2,600,000 2,600,000 0

= 629,015 635, 144 £6,129

E2TX(2D) 55,000 0 55,000
2 55,000 0 55,000

308 X SHHISOI 55,000 0 55,000
2 55,000 0 55,000

01 RXSHBLEES 55,000 0 55,000
OsE=H X 55,000 0 55,000

=2 55,000 0 55,000

FEBEIZXEM(2D) 240,861 318,492 AT7,631
= 221,846 293,348 AT1,502

= 9,015 25, 144 £6,129

308 KX EHHISOI® 240,861 318,492 AT7,631
2 221,846 293,348 AT1,502

< 19,015 25, 144 £6,129

01 RXSHINSTS 240,861 318,492 AT7,631
ORBRHXFXIZH 240,861 318,492 AT7,631

= 221,846 293,348 AT1,502

= 19,015 25,144 £6,120

SENEIH 39,296,000 40,780,000 1,484,000
= 32,096,000 33,588,000 A1,492,000

= 7,200,000 7,192,000 8,000

N HgAsHBD-RESR) 0 1,492,000 1,492,000
Z 0 1,492,000 1,492,000

308 KX SHHISOI 0 992,000 A992,000
2 0 992,000 992,000

01 RXSHILEES 0 992,000 992,000
ONEEEETCI(EED 0 992,000 992,000

2 0 992,000 £992,000

403 TIXISHRIS =01 & 0 500,000 A500,000
= 0 500,000 A500,000

01 XXX EE 0 500,000 A500,000
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